ENGINE

CCl #
12328

14625
17714
19485
20029
20036
20091
20095
20213
20214
20215
20216
20217
20233
20235
20242
20243
20283
20302
20645
21338
21351
24309
25177
25273
25300
25311
25335
25403
25404
26010
26011

28027
28081
28310
28311
28312
28313
28317
31700
32104
32105
32106
32108
32110
3211
32116
32118
32213
32218
32352
32787
32812
32813
35078
35623
35627
37064
53891
53895
53947

58120
58130
58284

58720
58726
59240
59430
59432
59628
59657
59725

59726
59900
59901
59902
75400

Description
Circuit breaker studs with screws and washers (repl. OEM 32601-78) pack of 10

Chrome 5/16"-18 nylon-inserted lock nuts. Pack of 10

Oil pressure switch. Replaces OEM 26561-84

O-Ring, tappet oil screen & oil pump plug. (repl. OEM 11105) Pack of 10
Drive shaft (long) for Big Twin models from 68-99 (repl. OEMs 26346-68, 26346-70)
Sprocket shaft spacer for Big Twin models 70-99 (repl. OEM 24002-70)

Pinion shaft key, pinion gear.(repl. OEM 23985-54) Pack of 10

Oil pump shaft key.(repl. OEM 26348-15) Pack of 10

Cam shims .060" thick. (repl. OEM25552-36) Pack of 5

Cam shims .065" thick. (repl. OEM25553-36) Pack of 5

Cam shims .070" thick. (repl. OEM25554-36) Pack of 5

Cam shims .075" thick. (repl. OEM25555-36) Pack of 5

Cam shims .080" thick. (repl. OEM25556-79) Pack of 5.

Chrome plug, 1/8-27 NPT oil pump body

Chrome hose fitting, 3/8" hose. (repl. OEM 63533-41) Sold each

Plunger, oil pump relief valve. ( repl. OEM 26400-82) Sold each.

Chrome plug, tappet oil screen & oil pump. (repl. OEM 26263-80) Sold each.
Polish Revtech oil pump cover

Fits Evolution Big Twin models 92-99

Pinion shaft nut, left hand thread.(repl. OEM 24023-54) Sold each.

#10 flatwasher, stainless steel. Sold each.

Chrome banjo fitting, breather. Sold each.

RevTech EV-72 cam for 110" & 100" 4x4 motor.

Chrome 5/16" flat washer. Pack of 100.

Bushing, upper piston rod +.002" oversize. (repl. OEM 24334-36) Sold in pairs.
0O-Ring, middle pushrod cover. (repl. OEM 11132) Pack of 10.

Oil seal, left engine case. (repl. OEM 12026B) Pack of 5.

Cam Cover Seal. Fits Big Twin models 70-99 (Repl. OEM# 83162-51) Pack of 5
Cam needle bearing. (repl. OEM 9058) Big Twins 58-99

Thrush washer, cam gear. (repl. OEM 25550-57) Pack of 5.

Cam Bushing. Fits Big Twin models 70-99 (Repl. OEM# 25581-70) Sold each
Pinion shaft bushing. Fits Big Twin models from 73-92 (repl. OEM 25582-73)
Left crankcase Timken bearing. Fits Big Twin models from 69-99 (repl. OEM 9028)
Rocker arm shaft. Fits 84-13 Big Twin and Sportster models (repl. OEM 17611-83) (sold each)
Replacement rocker arm bushing (repl. OEM 17428-57) sold each

Chrome Plated

Chrome smooth rocker box top cover

Chrome smooth rocker box front base.

Replacement rubber gasket (pack of 10)

Chrome smooth rocker box rear base.

Chrome oil pump cover with spacers & hardware.

Chrome 1/4-20 x 3/4" sockethead bolt. Pack of 10.

Chrome 1/4-20 x 7/8" sockethead bolt. Pack of 10.

Chrome 1/4-20 x 1" sockethead bolt. Pack of 10.

Chrome 1/4-20 x 1 1/2" sockethead bolt. Pack of 10.

Chrome 1/4-20 x 2" sockethead bolt. Pack of 10.

Chrome 1/4-20 x 2 1/4" sockethead bolt. Pack of 10.

Chrome 5/16-18 x 1 1/4" sockethead bolt. Pack of 10.

Chrome 5/16-18 x 1 3/4" sockethead bolt. Pack of 10

Chrome 5/16-18 x 3/4" Smooth sockethead bolt. Pack of 10

Chrome 5/16-18 x 1 3/4" Smooth sockethead bolt. Pack of 10.

Chrome 5/16" sockethead plugs. Pack of 100

Chrome 8-32 x 1/2" flathead screws. Pack of 10.

Chrome 1/4" AN flatwasher. Pack of 50.

Chrome 5/16" AN flat washer. Pack of 50.

Chrome fits Sportster and EVO Big Twin models (replaces OEM 63796-77A)
Chrome timing hole plug.

Inner pushrod cover set. Set of 4.

Chrome complete pushrod cover kit. Set of 4.

O-Ring, Lower Rocker Cover to Cylinder Head, 99-Up, All Twin Cam Models
Umbrella Valve, breather assembly. (repl OEM 26858-99). Pack of 10.
Breather assembly filter element. (repl. OEM 63815-99). Pack of 10.

Fits miscellaneous shifter and clutch parts on models from 72-13 (repl. OEM 11002, 11143)
O-Ring, lower pushrod cover. (repl. OEM 11145) Pack of 10.

O-Ring, upper pushrod cover. (repl. OEM 11157) Pack of 10.

Retaining ring, oil pump drive shaft. (repl. OEM 26348-36) Pack of 10.

Check ball, oil pump. (repl. OEM 8873) Pack of 10.

0O-Ring, oil pump end cap. (repl. OEM 11241) Pack of 10.

Press-together flywheel assembly, 4 3/8" stroke for 110" Revtech motors.
Press-together flywheel assembly, 4" stroke for 100" 4x4 Revtech motors.
Revtech replacement air filter element.

Chrome point cover with Revtech logo.

Natural Revtech Gen Ill cases with studs, sump plate & case hardware.

Polish Revtech Gen Ill cases with studs, sump plate & case hardware.

Revtech hydraulic tappets. (repl. OEM 18523-86A) Sold each.

Rear flange ONLY (replaces OEM 27010-86A) sold each

Front and rear (sold in pairs)

Exhaust studs, Sold each.

Chrome plated 12 point flanged outer head bolts. (repl. OEM 16480-92A) Sold each.
Igzlllt)lg?i 3ro‘(or for many models from 83-02 (except models with fuel injection) replaces OEM

Ignition rotor screw and washer (pack of ten) replaces OEM 2611B

Natural Gen Il sump plate.

Black Gen Il sump plate.

Polish Gen Il sump plate.

Zinc plated 12 point flanged inner head bolts. (repl. OEM 16478-85A) Sold each.

* www.cvstom-chrome-evrope.com » 9.15

75585
92236
92605
92606
92607
92609
92610
92612
92617
93537
93637
93987

Tappet oil screen. (repl. OEM 24981-70) Pack of 5.

#10-24 x5/8" hex screws, stainless steel. Pack of 10.

Breather assembly lower housing

Breather assembly middle housing.

Breather assembly top cover.

Black oxide 5/16-18 x 2 5/8" hex head flanged bolt. Pack of 10.

Black oxide 5/16-18 x 2 3/8" hex head flanged bolt. Pack of 10.

Black oxide 1/4-20 x 2 1/4" hex head flanged bolt, head breather assembly. Pack of 10.
Support tower, rocker arms.

Chrome 1/4" flat washer with 7/16" O.D. (repl. OEM 6099) pack of 10
Flat washer, Revtech oil pump. Pack of 6.

Black oxide 5/16-18 x 3/4" sockethead bolt. Pack of 10.

Retaining ring, pinion bearing. (repl. OEM 11177A) Pack of 10.
Spring, tappet oil screen. (repl. OEM 24982-70) Pack of 5.

Pinion gear, orange. (measures 1.4756-1.4751, repl. OEM 24040-78)
Pinion gear, white. (measures 1.4751-1.4745, repl. OEM 24041-78)
Pinion gear, yellow. (measures 1.4745-1.4737, repl. OEM 24042-78)
Pinion gear, red. (measures 1.4737-1.4729, repl. OEM 24043-78)
Pinion gear, blue. (measures 1.4729-1.4721, repl. OEM 24044-78)
Pinion gear, green. (measures 1.4721-1.4715, repl. OEM 24045-78)
Pinion gear, black. (measures 1.4715-1.4710, repl. OEM 24046-78)
Pinion bearing, green. (repl. OEM 24628-87A)

Pinion bearing, red. (repl. OEM 24641-87A)

Pinion bearing, blue. (repl. OEM 24643-87A)

Pinion bearing, white/gray. (repl. OEM 24626-87A)

Aluminum head breather washers. Pack of 10.

Fits Evolution Sportster and Big Twin models from 84-01.Valve guide seals. Set of 4.
Gasket, oil pump body to case. Pack of 10.

Gasket, oil pump outer cover to body. Pack of 10.

Replacement metal gasket (pack of 10)

Chrome complete pushrod cover kit for 100" 4x4 motors only. Set of 4.
O-Ring, cylinder dowel/ drain. Sold each.

O-Ring, lower cylinder to case. Pack of 10

O-Ring, piston oil squirters. Pack of 10

Outer pinion shaft plug .060" hole. Pack of 10

RevTech complete hi-flow oil pump assembly, polished

Revtech hi-flow oil pump body only

Qil seal, oil pump shaft. Pack of 10.

Qil pump drive gear, 3:1 ratio.

Oil pump driven gear 21 tooth, 3:1 ratio

Chrome Evo front & rear tappet block set. Includes hardware.
Revtech intake manifold.

Seal, intake manifold. Sold each.

Chrome Revtech 110" complete air cleaner & breather assembly .
Chrome Revtech 110" air cleaner insert.

Chrome banjo bolt, breather. Sold in pairs.

Chrome Revtech 100" 4x4 complete air cleaner & breather assembly.
Revtech electronic ignition with break-in rev-limiter.

Drive gear-oil return, case side. (repl. OEM 26315-68A)

Idler gear-oil return, case side. (repl. OEM 26317-68A)

Drive gear-oil supply, cover side (repl. OEM 26328-74)

Idler gear-oil supply, cover side (repl. OEM 26326-62A)

RevTech electronic ignition

Rear piston oil squirter.

Front piston oil squirter.

Fits 100" 4x4 and 110" RevTech Gen 3 Engines, (pack of 10)

Cylinder studs, 3/8" x 7/16" x 6.30". Set of 8.

Black oxide #8-32 x 3/8" button head screw. Pack of 10.

RevTech roller rocker arm complete set. Fits all Big Twins 84-Up and Evolution Sportster models
from 86-Up

Revtech roller rocker arm, rear exhaust or front intake.

Revtech roller rocker arm, front exhaust or rear intake.

Revtech chrome cam cover.

Valve guide intake & exhaust standard size

Valve guide intake & exhaust +.001" oversize.

Gasket, breather top cover. (repl. OEM 17591-99). Pack of 10.
Gasket, breather baffle. (repl. OEM 17592-99) Pack of 10.

Gasket, rear tappet block.( repl. OEM 18633-48D) Pack of 10.
Gasket, front tappet block.( repl. OEM 18634-48C) Pack of 10.
Gasket, cam cover with silicon bead. (repl. OEM 25225-93) Pack of 10.
Gasket, point cover. (repl. OEM 32591-80) Pack of 10.

HSR 45mm Mikuni carburetor with chrome top cover & choke cable.
Rubber flange adapter for late 45 mm carb. Black wistainless clamp
HSR 42mm Mikuni carburetor with chrome top cover & choke cable.
Rubber flange adapter for late 42 mm carb. Black wistainless clamp, 70-75 mm
Chrome 5/16-18 x 3 1/2" hex bolt. Pack of 10.

Chrome 5/16-18 x 3" hex bolt. Pack of 10.

Chrome 1/4-20 x 3 1/2" hex bolt. Pack of 10.

Spacer, between pinion & oil drive gear. Pack of 10.

Outer valve spring, 600 lift. Sold each.

Inner valve spring, 600 lift. Sold each.

Valve spring lower collar. Sold each.

Valve spring upper collar. Sold each.

Valve keepers. Sold in pairs.

*

APPAREL

*

SEATS &
TOURING

*

FOOT
CONTROLS

¥

HAND
(ONTROLS

¥

LIGHTING

¥

ELECTRICAL

¥

EXHAUST

GASKETS

*

TRANNY &
CLUTCH

¥

DRIVELINE

¥

WHEELS, TIRES
& BRAKES

* E %

w
=
=
=
S
oo

o
o
=

¥

SHEETMETAL

¥

INSTRUMENTS
& GAUGES

¥

LUBRICANTS &
CHEMICALS

¥

T00LS &
EQUIPMENT

*

LAST MINUTE



